
CUET Memory Based English Question Paper 2023

(22nd May 2023)

Q1. Antonym of Delicious is

(a) Spicy

(b) Pleasure

(c) Tasteless

(d) Savory

Q2. Synonym of Squalid is

(a) Bright

(b) Clear

(c) Sterile

(d) Muddy

Q3. Antonym of Consider is

(a) Revolve

(b) Refuse

(c) Concede

(d) Reflect

Q4. Synonym of Distress is

(a) Anguish

(b) Blessings

(c) Euphoria

(d) Pleasure

Q5. The cat was chasing the mouse.

Change the sentence into passive voice.

(a) The mouse was chasing by the cat.



(b) The mouse was being chased by the cat.

(c) The mouse has been chased by the cat.

(d) The cat chased the mouse.

Q6. Influenza: Virus:: typhoid:?

(a) Bacteria

(b) Protozoa

(c) Parasite

(d) Bacillus

Q7. He said to his brother, “Do not put sharp things on your bed.”

Change the sentence into indirect speech.

(a) He told his brother never put sharp thing on your bed.

(b) He said to his brother do not put sharp thing on the bed.

(c) He told his brother not to put sharp thing on your bed.

(d) He told his brother not to put sharp things on his bed.

Q8. Antonym of Calm is

(a) Mild

(b) Placid

(c) Harsh

(d) Bland

Q9. Synonym of Catastrophe is

(a) Boon

(b) Destruction

(c) Benefit

(d) Cause

Q10. Synonym of Gullible is

(a) Suspicious

(b) Innocent



(c) Cunning

(d) Perceptive

Q11. Meaning of the Idiom “Showing a clear pair of heels”

(a) To run away quickly

(b) To show your feet

(c) To Buy a new pair of heels

(d) To come around

Q12. Rearrange the sentence

People/an/elephant/by /considered/stuck/was/some/as

(a) An elephant was considered as stuck by some people.

(b) An elephant as considered was stuck by some people.

(c) People as considered stuck by some people.

(d) People considered stuck by an elephant.

Q13. Which of these is a correct formal letter introduction? 

(a) Hello John

(b) Hello Mr. Jones

(c) Dear Mr. Jones

(d) Alright Mate

 

Q14. Which of these should not be in a formal letter?

(a) Slangs 

(b) Tough words 

(c) Date

(d) Your name

Q15. We believe in democracy though it has its shortcomings.

(a) Adjective clause

(b) Adverb clause



(c) Noun clause

(d) Pronoun clause

Q16. This is the girl who talked to me yesterday.

(a) Adjective clause

(b) Adverb clause

(c) Noun clause

(d) Pronoun clause

Q17. Antonym of the word melodious is

(a) soft

(b) sweet

(c) Mistune

(d) Mellow

Q18. A man from our village has been nominated ____ the ruling party’s candidate for the post.

(a) to

(b) as

(c) in

(d) for

Q19. Let's watch a funny movie." Which word is a noun?

 (a) watch

 (b) funny

 (c) movie

(d) word

Q20. Which of the following is the correct sentence.

(a) A sugar is bad for your teeth.

(b) The sugar is bad for your teeth.

(c) Sugar is bad for your teeth.

(d) Sugar is a bad for your teeth.



Q21. Iron is a useful metal. Here ‘Iron’ is –

(a) a material noun

(b) a proper noun

(c) a common noun

(d) none of the above

Q22. ‘Knowledge’ is the example of –

(a) abstract noun

(b) proper noun

(c) common noun

(d) collective noun

Q23. She wears spectacle/ (b) and so she was unable to see the gangster/ (c) that attacked her

last night. / (d) No error.

(a) She wears spectacle

(b) and so she was unable to see the gangster

(c) that attacked her last night.

(d) No error

Q24. The driver showed / (b) great talent in keeping / (c) the damaged car under control. / (d)

No error

(a) The driver showed

(b) great talent in keeping

(c) the damaged car under control.

(d) No error

Directions (25-27) In the following questions, some parts have been jumbled up. You are

required to rearrange these parts, which are labelled P, Q, R and S, to produce the correct

sentence

Q25. The concept of death

P: that it has been reduced

Q: as an inevitability



R: is so ancient

S: to a cliche

(a) SPRQ

(b) QRPS

(c) SRPQ

(d) QPRS

Q26. The specific

P: ability requirements of the job

Q: depend on the

R: required for adequate job performance

S: intellectual or physical abilities

(a) PQRS

(b) SRQP

(c) PRQS

(d) SQRP

Q27. For thousands of years

P: one of the most important fruits

Q: the strange fruit of this bush

R: of the Mediterranean region

S: has been regarded as

(a) PQRS

(b) QSPR

(c) PSQR

(d) QRPS

Direction (28-30) Choose the correct option-

Q28. I __________ working all afternoon and have just finished the assignment.

(a) have been



(b) had been

(c) shall be

(d) am

Q29. By the next month, we shall __________ the project.

(a) has completed

(b) completing

(c) completed

(d) have completed

Q30. Sita or her brothers __________ to be blamed.

(a) is

(b) has

(c) are

(d) was

SOLUTIONs

S1. Ans. (c)

S2. Ans. (d)

S3. Ans. (b)

S4. Ans. (a)

S5. Ans. (b)

S6. Ans. (a)

S7. Ans. (d)

S8. Ans. (c)

S9. Ans. (b)

S10. Ans. (b)

S11. Ans. (a)



S12. Ans. (a)

S13. Ans. (c)

S14. Ans. (a)

S15. Ans. (b)

S16. Ans. (a)

S17. Ans. (c)

S18. Ans. (b)

S19. Ans. (c)

S20. Ans. (c)

S21. Ans. (a)

S22. Ans. (a)

S23. Ans. (a)

S24. Ans. (b)

S25. Ans. (b)

S26. Ans. (b)

S27. Ans. (b)

S28. Ans. (b)

S29. Ans. (d)

S30. Ans. (c)


